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1. Choose the most appropriate answer/
Answer the following questions :, 1x8=8

(a) The problem of scarcity arises, because

(i) institutional supply of resources
are limited

(i) man has unlimi’téd wanits

(i) man has to choose between
" alternative ‘wants

fiv) resources are limited relative to
wants
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(2)

(b) A locus of cdnstant utlht‘y is called
(i) expansion path
(i) revealed prefereﬁée ‘axiom
(at) indiﬁ'erence curve

(iv) demand function

() An example of ‘explicit"cbst’ is

(i) the wages a ﬁmprietor could have
made by working as an employee of
a large firm - .

(ii) the income that cbuld have been
earned in alternative uses by the
resources owned by the firm

(iii) the payment of wages by the firm
(iv) the normal profit earned by a firm

(d) Non-specific factors, which can be put
to numerous uses, earn
() a large amoﬁht of _ ré‘rrmt

_ (i) asman”",amountofféﬁt
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(3)

(iii) no rent

(iv) None of the above .

(e} Write two methods of microeconomic
analysis.

il Write the meaning of derived demand.

(9) Write one example each of private cost
and social cost.

(h) How does the imposition of a unit tax..
affect the supply curve of a firm?

2. Write short.notes on any four of the following
(within 150 words each) : 4x4=16
(@) Opportunity sets
(b} Applications of price elasticity of
demand

(c) Budget constraint
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(4
(d) Monopoly and antitrust policy

(e) Productivity of an input -

Answer the following questions :

3. (@) (i) Why is it said that the problem of
choice has its root in relative scar-
city of resources? Discuss the
rationale for studying ecoiomics.

3+5=8

(ii) Explaih the general features of
economic models. 4

-Or

(b)) (i) What are the basic problems of an

" economic system? Discuss how the

basic economic problems are solved

in free market and mixed economic
systems. - 3+5=8

(i) "Explain the growth and efficiency
* goals of microéeconomics. 4



4. (a)

' ()

5. (a)
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() Explain the meaning of shifts in the
' demand curve and shifts in the
supply curve. 3

(i) Discuss how prices allocate
resources. 4

(iii) Derive the market demand _curve
from individual demand curves. 4

Or

Explain with suitable diagrams the

-impact of a tax on the following :

. 3%a+3%+4=11

() Consumer surplus
(ii) Producer surplus

(i) Efficiency of the markets ~

What is compensating variation in
income? Decompose the income and
substitution effects from the price effect.

: 3+8=11
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(6)

Or

(b) (i) Discuss the consumer’s optimum

- choice of consumption with the
help of ' indifference curve .
technique. 8

: (ii) Nlustrate what will happen if two
indifference curves intersect each
other. 3

6. (a) (i) Explain with total revenue and total
cost curves, how a firm attains

profit maximizing output. 7

(i) Derive the long-run average cost
curve from short-run average cost
curves. ) 4

Or r-

(b) () Explain various economies, of scale
that a firm experiences when it
expands its scale of production. 5

(i) Explain with the help of economics

- and diséconomics of scale, the
shape of long-run average - cost
curve, | - 6
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(7))

7. (a) Write a critical note on the marginal
productivity theory of dist.ri!::ut.ion.T 11

Or

(b) (i) What are the determinants of input
demand curves? Explain the firm’s
profit-maximizing condition in
input markets. 3+5=8

(i) Explain how shift in input demand
curve occurs. 3
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